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As urine is excreted, muScIe contractions of the urinary bladder wﬂl cause the unne
to pass into the

(1) ureter - : ©uettra -
(2) glomerulus -(4) Bowmans capsule

In humans, the immediate result of a blockage in one ureter would be to
(l) hm:t the ablhty to store urine
~ (2) prevent ﬁltratnon of the blood
3) stop the release of urine from the body ,
decrease the amount of urine entering the bladder

The correct pathway for urineé to flow out of the human body is
(1) bladder — ureter — kidney — urethra
kidney — ureter — bladder — urethra
(3) urethra — bladder — kidney — ureter
(4) kidney — urethra —> bladder — ureter

The diagram below illustrates some structures of the skin

Dermis

Blood vessel

A substance that blocks structure A would directly interfere with

(1) cellular respiration (3) storage of urea
(2) dehydration synthesis - | @temperature regulation
Constructed Response. -

Any disruptions in a body system may result in a Corresponding imbalance in
homeostasis. Using one or more complete statements name a disorder of the respiratory
of excretory system and scnbe the imbalance ca; erliy#xsorder ' b 0(
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